—~
Q

Aerosol mass concentration (pg/m3) ~

3

Aerosol mass concentration (ug/m’) ~

N

(c

Organic mass (pg/m3)

_ 50
110 a-pinene + NO,
100- r” T T T ] 40
/
90 — y ~
3
80 - -30 %
Q.
- c
70 # 20 @
60 - ; 2
50 - ! O SOA mass, experiment | [~ 10
# ! = SOA mass, model, fit 1
= - - ~ = = = SOA mass, model, fit 2
40 4 (# = = Temperature
I 1 I 1 I 1 I 1 I 1 O
0 4 8 12 16
Time (h)
110 H
100 [] Gas-phase dimers
[l Oligomers
90 - [1Monomers
80
70
60 —
50
| ! | ! | ! | ! | !
0 4 8 12 16
Time (h)
280
60 - I Gas phase
[_]Particle phase organic nitrates
[_]Particle phase organics
40
20
=
0 lI:| | | | | # | |

|
- 00101 1 10 10010001e4 1e5
Volatility C* (ug/n)



